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FOR 2 :1 SLOPE, USE 2

&

]

SECTION

SKEWED CULVERTS

Wl = WIDTH OF HEADWAL

W2 = WIDTH OF WINGWALL

X = LENGTH OF WING

L = % SLOPE X HZ2

H2 = (X) 2SINa + [Wl + (W2-W2C0Sa)]

* SLOPE
= ANGLE BETWEEN HEADWALL
AND CULVERT WALL
2
= 2(X) SING + Wl + (W2-W2C0Saq)
= L - [WL+ (W2-W2C0Sa)]
2SING
(X) SINa + W1 - W2C0Sa
w3
% SLOPE

= H2

RIGHT ANGLE CULVERTS

Wl = WIDTH OF HEADWAL

W2 = WIDTH OF WINGWALL

X = LENGTH OF WING

L = % SLOPE X H2

HZ2 = 1.3660254(X)+ [W1 + 0.5W2]
% SLOPE

= 30°

L - [Wl + (W2-W2SINaq)]
SINa + COSa

L - [Wl + 0.5W2]
1.3660254
(X) COSa + W! - W2SINa
w3
% SLOPE

= H2

WINGWALL

CULVERT

1 L HEADWALL

PART-PL AN

TURNED BACK WING
LAYOUT FORMULAS FOR CULVERTS
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SECTION
SKEWED CULVERTS RIGHT ANGLE CULVERTS
Wi = WIDTH OF HEADWAL Wi = WIDTH OF HEADWAL
W2 = WIDTH OF WINGWALL W2 = WIDTH OF WINGWALL
X = LENGTH OF WING X = LENGTH OF WING
L = % SLOPE X H2 L = % SLOPE X H2
H2 = (X) 2SING + [Wl + (W2-W2C0Sa)] H2 = 1.3660254(X)+ [Wl + 0.5W21
% SLOPE % SLOPE
a = ANGLE BETWEEN HEADWALL a = 30°
AND CULVERT WALL
5 X = L - [Wl + (W2-W2SINa)]
L = 20X\ SINa + Wi + (W2-W2C0Sa) SINag + CO0Sa
X = L - [Wl+ (W2-W2C0Sa)] X = L - [Wl+ 0.5W2]
2SING 1.3660254
W3 = (X) SINa + Wl - W2C0Sa W3 = (X) COSa + Wi - W2SINg
ol W3 \jy . W3
H3 = H2- siore 4> "3 = H2- siope
WINGWALL fi
N
|
CULVERT
CULVERT WALL
WALL *
&
1 1 L HEADWALL
1
PART-PLAN PART-PLAN

TURNED BACK WING
LAYOUT FORMULAS FOR CULVERTS
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